



→ Regular Research Paper – NS

# Integral representations for the solutions of the quadratic pencil of the Sturm-Liouville equation with a discontinuous coefficient

**Anar Adiloğlu Nabiev**

Department of Computer Engineering, Suleyman Demirel University, Isparta, 32260, Turkey  
[anaradiloglu@sdu.edu.tr](mailto:anaradiloglu@sdu.edu.tr)

**Mehmet Onur Özgür**

Department of Computer Engineering, Suleyman Demirel University, Isparta, 32260, Turkey  
[onresr0755@gmail.com](mailto:onresr0755@gmail.com)

## Abstract

In this study we construct new integral representations of Jost-type solutions of the quadratic pencil of the Sturm-Liouville equation with piece-wise constants coefficient on the entire axis under some boundness conditions on the potential functions.

**Keywords:** Jost-type solution, Sturm-Liouville pencil, discontinuous Sturm-Liouville equation, integral equation, transformation operator.

## 1. INTRODUCTION

In the present study the Sturm-Liouville equation

$$-y'' + q(x)y + 2\lambda p(x)y = \lambda^2 \rho(x)y, x \in I = (-\infty, +\infty) \quad (1)$$

is considered where

$$\rho(x) = \begin{cases} 1, & x \geq 0, \\ \alpha^2, & x < 0, \end{cases} (\alpha \neq 1, \alpha > 0) \quad (2)$$

is a piece-wise constant coefficient,  $\lambda$  is a complex parameter,  $q(x)$  and  $p(x)$  are real functions such that

$$(1 + |x|)q(x), p(x) \in L^1(I), p(x) \in BC(I) \quad (3)$$

Here  $L^1(I)$  is the space of summable functions on  $I$  and  $BC(I)$  is the class of functions that are bounded and continuous on  $I$ . Equation (1) is related to solving the inverse problem for the Klein-Gordon equation with a static potential and zero charge in quantum scattering theory [7]. Some scattering problems arising in the theory of transmission lines, the theory of electromagnetism, and the theory of elasticity are also reduced to equation (1) [12]. It is well known that transformation operators method plays an important role in the inverse problems theory. V.A. Marchenko [1, 8] applied the transformation operators to the solution of the inverse problems for Sturm-Liouville operator on a finite interval and on the half line. Transformation operators were also used in the study of Levitan, Gasymov [1], where they obtained necessary and sufficient conditions for recovering a Sturm-Liouville operator from its spectral characteristics. In the case of  $\rho(x) = 1$ , there are enough studies in the literature using transformation type operators, called integral representations of the special solutions, to solve direct and inverse scattering problems





of equation (1) [3, 6, 7, 11]. Some problems with various statements related to inverse scattering problems for the discontinuous Sturm-Liouville equation have been considered in [2, 4, 5, 9]. The direct and inverse scattering problems for equation (1) with  $p(x) = 0$  in various settings have been investigated in [4, 5, 13] where new integral representations, similar transformations operators for the Jost solutions of the Sturm-Liouville equation, are obtained and applied to the investigation of the considered problems. In [10] direct and inverse scattering problems have been investigated for equation (1) with discontinuity conditions. In this study we construct new integral representations of Jost-type solutions of equation (1) on the entire axis under conditions (2) and (3).

## 2. INTEGRAL REPRESENTATION OF THE JOST SOLUTIONS

We denote by  $f_{\pm}(x, \lambda)$  the solution of (1) with the condition

$$\lim_{x \rightarrow \pm\infty} f_{\pm}(x, \lambda) e^{\mp i\lambda\mu(x)} = 1,$$

where  $\mu(x) = x\sqrt{\rho(x)}$ . The solutions  $f_+(x, \lambda)$  and  $f_-(x, \lambda)$  will be called the right and the left Jost solutions of (1) respectively. It is easy to verify that the solution  $f_{\pm}(x, \lambda)$  obeys the integral equation

$$f_{\pm}(x, \lambda) = e_{\pm}(x, \lambda) + \int_x^{\pm\infty} \left[ \frac{1}{2} \left( \frac{1}{\sqrt{\rho(t)}} - \frac{1}{\sqrt{\rho(x)}} \right) \frac{\sin\lambda(\mu(t) + \mu(x))}{\lambda} + \right. \\ \left. + \frac{1}{2} \left( \frac{1}{\sqrt{\rho(t)}} + \frac{1}{\sqrt{\rho(x)}} \right) \frac{\sin\lambda(\mu(t) - \mu(x))}{\lambda} \right] x(q(t) + 2\lambda p(t)f_{\pm}(t, \lambda)) dt, \tag{4}$$

where

$$e_+(x, \lambda) = \frac{1}{2} \left( 1 + \frac{1}{\sqrt{\rho(x)}} \right) e^{i\lambda\mu(x)} + \frac{1}{2} \left( 1 - \frac{1}{\sqrt{\rho(x)}} \right) e^{-i\lambda\mu(x)}$$

and

$$e_-(x, \lambda) = \frac{1}{2} \left( 1 - \frac{\alpha}{\sqrt{\rho(x)}} \right) e^{i\lambda\mu(x)} + \frac{1}{2} \left( 1 + \frac{\alpha}{\sqrt{\rho(x)}} \right) e^{-i\lambda\mu(x)}$$

Consider the solution  $f_+(x, \lambda)$  When  $x > 0$  it is well known that [3, 6] for all  $Im\lambda \geq 0$  the solution  $f_+(x, \lambda)$  has the representation

$$f_+(x, \lambda) = e^{i\lambda x + i\omega_+(x)} + \int_x^{+\infty} A^+(x, t) e^{i\lambda t} dt \tag{5}$$

where  $\omega_+(x) = \int_x^{+\infty} p(t) dt$  and the kernel function  $A^+(x, t)$  satisfies

$$\int_x^{+\infty} |A^+(x, t)| \leq C_0 \sigma^+(x) e^{\sigma^+(x)} \tag{6}$$

for some constant  $C_0 > 0$  and  $\sigma^+(x) = \int_x^{+\infty} ((1+t)|q(t)| + 2|p(t)|) dt$ . Moreover, the kernel function  $A^+(x, t)$  satisfies the condition

$$A^+(x, x) = \frac{1}{2} \left( \int_x^{+\infty} [q(t) + p^2(t)] dt - ip(x) \right) e^{i\omega_+(x)} \tag{7}$$

Consider the case  $x < 0$  for the solution  $f_+(x, \lambda)$  In this case the equation (4) takes the form of



$$f_+(x, \lambda) = \alpha_+ e^{i\alpha\lambda x} + \alpha_- e^{-i\alpha\lambda x} + \int_x^0 \frac{\sin\alpha\lambda(t-x)}{\alpha\lambda} q(t) f_+(t, \lambda) dt + \int_0^\infty \left[ \alpha^- \frac{\sin\lambda(t+\alpha x)}{\lambda} + \alpha^+ \frac{\sin\lambda(t-\alpha x)}{\lambda} \right] [q(t) + 2\lambda p(t)] f_+(t, \lambda) dt, \quad (8)$$

where  $\alpha_\pm = \frac{1}{2}(1 \pm \frac{1}{\alpha})$ . We require that the solution of the integral equation (8) has the form of

$$f_+(x, \lambda) = R_+(x) e^{i\alpha\lambda x} + R_-(x) e^{-i\alpha\lambda x} + \int_{\alpha x}^{+\infty} B^+(x, t) e^{i\lambda t} dt, \quad \text{Im}\lambda \geq 0, x < 0 \quad (9)$$

where

$$R_\pm(x) = \alpha_\pm e^{i\omega_+(0) \pm \frac{i}{\alpha} \int_x^0 p(t) dt}$$

and  $B^+(x, t)$  is defined after replacing  $f_+(x, \lambda)$  in equation (8) with formulas (5), (9) and transforming some integrals of the Fourier type:

$$\begin{aligned} B^+(x, t) = & \frac{1}{2\alpha} \int_{\frac{t+\alpha x}{2\alpha}}^0 q(s) R_+(s) ds + \frac{1}{2\alpha} \int_{\frac{\alpha x-t}{2\alpha}}^0 q(s) R_-(s) ds - \\ & - \frac{i}{2\alpha^2} p\left(\frac{t+\alpha x}{2\alpha}\right) R_+\left(\frac{t+\alpha x}{2\alpha}\right) + \frac{i}{2\alpha^2} p\left(\frac{\alpha x-t}{2\alpha}\right) R_-\left(\frac{\alpha x-t}{2\alpha}\right) + \\ & + \frac{\alpha_+}{2} \int_0^{+\infty} q(s) e^{i\omega_+(s)} ds - \frac{\alpha_-}{2} \int_0^{\frac{t-\alpha x}{2}} q(s) e^{i\omega_+(s)} ds - \frac{i\alpha_-}{2} p\left(\frac{t-\alpha x}{2}\right) e^{i\omega_+\left(\frac{t-\alpha x}{2}\right)} + \\ & + \alpha_+ \int_0^{\frac{t-\alpha x}{2}} dv \int_v^{+\infty} q(u-v) A^+(u-v, u+v) du - \\ & - \alpha_- \int_0^{\frac{t-\alpha x}{2}} dv \int_v^{\frac{t-\alpha x}{2}} q(u-v) A^+(u-v, u+v) du + \\ & + \frac{1}{\alpha^2} \int_0^{\frac{t-\alpha x}{2}} dv \int_{\frac{t+\alpha x}{2}}^v q\left(\frac{u-v}{\alpha}\right) B^+\left(\frac{u-v}{\alpha}, u+v\right) du + \\ & + i\alpha_+ \int_{\frac{t-\alpha x}{2}}^{+\infty} p\left(u - \frac{t-\alpha x}{2}\right) A^+\left(u - \frac{t-\alpha x}{2}, u + \frac{t-\alpha x}{2}\right) du - \\ & - i\alpha_- \int_0^{\frac{t-\alpha x}{2}} p\left(\frac{t-\alpha x}{2} - v\right) A^+\left(\frac{t-\alpha x}{2} - v, \frac{t-\alpha x}{2} + v\right) dv + \end{aligned}$$



$$\begin{aligned}
 & + \frac{1}{i\alpha^2} \int_0^{\frac{t-\alpha x}{2}} p\left(\frac{t+\alpha x}{2} - \frac{v}{\alpha}\right) B^+\left(\frac{t+\alpha x}{2\alpha} - \frac{v}{\alpha}, \frac{t+\alpha x}{2} + v\right) dv - \\
 & - \frac{1}{i\alpha^2} \int_0^{\frac{t-\alpha x}{2}} p\left(\frac{u}{\alpha} - \frac{t-\alpha x}{2\alpha}\right) B^+\left(\frac{u}{\alpha} - \frac{t-\alpha x}{2\alpha}, \frac{u}{\alpha} + \frac{t+\alpha x}{2}\right) du, -\alpha x \leq t < -\alpha x \tag{10}
 \end{aligned}$$

$$\begin{aligned}
 B^+(x, t) &= \frac{\alpha_+}{2} \int_{\frac{t+\alpha x}{2}}^{+\infty} q(s) ds + \frac{\alpha_-}{2} \int_{\frac{t-\alpha x}{2}}^{+\infty} q(s) ds - \\
 & - \frac{i\alpha_-}{2} p\left(\frac{t-\alpha x}{2}\right) e^{i\omega_+\left(\frac{t-\alpha x}{2}\right)} - \frac{i\alpha_+}{2} p\left(\frac{t+\alpha x}{2}\right) e^{i\omega_+\left(\frac{t+\alpha x}{2}\right)} \\
 & \alpha_+ \int_{\frac{t+\alpha x}{2}}^{\frac{t-\alpha x}{2}} dv \int_v^{+\infty} q(u-v) A^+(u-v, u+v) du + \\
 & \alpha_+ \int_0^{\frac{t-\alpha x}{2}} dv \int_{\frac{t+\alpha x}{2}}^{+\infty} q(u-v) A^+(u-v, u+v) du - \\
 & -\alpha_- \int_{\frac{t+\alpha x}{2}}^{\frac{t-\alpha x}{2}} dv \int_v^{\frac{t-\alpha x}{2}} q(u-v) A^+(u-v, u+v) du + \\
 & + \frac{1}{\alpha^2} \int_{\frac{t+\alpha x}{2}}^{\frac{t-\alpha x}{2}} dv \int_{\frac{t+\alpha x}{2}}^v q\left(\frac{u-v}{\alpha}\right) B^+\left(\frac{u-v}{\alpha}, u+v\right) dv + \\
 & + i\alpha_+ \int_{\frac{t-\alpha x}{2}}^{+\infty} p\left(u - \frac{t-\alpha x}{2}\right) A^+\left(u - \frac{t-\alpha x}{2}, u + \frac{t-\alpha x}{2}\right) du - \\
 & - i\alpha_+ \int_0^{\frac{t+\alpha x}{2}} p\left(\frac{t+\alpha x}{2} - v\right) A^+\left(\frac{t+\alpha x}{2} - v, \frac{t+\alpha x}{2} + v\right) dv + \\
 & - i\alpha_- \int_0^{\frac{t-\alpha x}{2}} p\left(\frac{t-\alpha x}{2} - v\right) A^+\left(\frac{t-\alpha x}{2} - v, \frac{t-\alpha x}{2} + v\right) dv +
 \end{aligned}$$



$$\begin{aligned}
 &+i\alpha_- \int_{\frac{t+\alpha x}{2}}^{+\infty} p\left(u - \frac{t+\alpha x}{2}\right) A^+\left(u - \frac{t+\alpha x}{2}, u + \frac{t+\alpha x}{2}\right) du + \\
 &+ \frac{1}{i\alpha^2} \int_{\frac{t+\alpha x}{2}}^{\frac{t-\alpha x}{2}} p\left(\frac{t+\alpha x}{2\alpha} - \frac{v}{\alpha}\right) B^+\left(\frac{t+\alpha x}{2\alpha} - \frac{v}{\alpha}, \frac{t+\alpha x}{2} + v\right) dv - \\
 &- \frac{1}{i\alpha^2} \int_{\frac{t+\alpha x}{2}}^{\frac{t-\alpha x}{2}} p\left(\frac{u}{\alpha} - \frac{t-\alpha x}{2\alpha}\right) B^+\left(\frac{u}{\alpha} - \frac{t-\alpha x}{2\alpha}, u + \frac{t-\alpha x}{2}\right) du, t > -\alpha x. \quad (11)
 \end{aligned}$$

Here we suppose  $A^+(x, t) \equiv 0$  for  $t < 0$  and  $B^+(x, t) \equiv 0$  for  $t < \alpha x$ . From equation (11) it is obtained that

$$\int_{\alpha x}^{+\infty} |B^+(x, t)| dt \leq C \sigma^+(x) e^{\sigma^+(x)}$$

where  $C > 0$  and

$$\sigma^+(x) = \frac{1}{2\alpha} \int_{\alpha x}^{+\infty} \left( (1+t)|q(t)| + \frac{2}{\alpha} |p(t)| \right) dt.$$

By the similar way, considering the solution  $f_-(x, \lambda)$  we have for  $x < 0$

$$f_-(x, \lambda) = e^{-i\alpha\lambda x + i\omega_-(x)} + \int_{-\infty}^{\alpha x} A^-(x, t) e^{-i\lambda t} dt \quad (Jm\lambda \geq 0), \quad (12)$$

where

$$\omega_-(x) = \frac{1}{\alpha} \int_{-\infty}^x p(t) dt$$

and the kernel function  $A^-(x, t)$  satisfies the integral equation

$$\begin{aligned}
 A^-(x, t) &= \frac{1}{2\alpha} \int_{-\infty}^{\frac{\alpha x+t}{2\alpha}} q(s) ds + \frac{1}{2i\alpha^2} p\left(\frac{t+\alpha x}{2\alpha}\right) e^{i\omega_-\left(\frac{t+\alpha x}{2}\right)} + \\
 &+ \int_{-\infty}^{\frac{\alpha x+t}{2\alpha}} du \int_{-\infty}^{\frac{\alpha x-t}{2\alpha}} q(u+v) A^+(u+v, \alpha(u-v)) dv + \\
 &+ \frac{1}{i\alpha} \int_0^{\frac{\alpha x-t}{2\alpha}} p\left(\frac{t+\alpha x}{2\alpha} + v\right) A^-\left(\frac{t+\alpha x}{2} + v, \alpha\left(\frac{t+\alpha x}{2} - v\right)\right) dv -
 \end{aligned}$$



$$-\frac{1}{i\alpha} \int_{-\infty}^{\frac{\alpha x+t}{2\alpha}} p\left(u + \frac{\alpha x-t}{2\alpha}\right) A^-\left(u + \frac{\alpha x-t}{2\alpha}, \alpha\left(u - \frac{\alpha x-t}{2\alpha}\right)\right) du \quad (13)$$

which implies

$$\int_{-\infty}^{\alpha x} |A^-(x, t)| dt \leq C_1 \sigma^-(x) e^{\sigma^-(x)} \quad (14)$$

for some constant  $C_1 > 0$  and

$$\sigma^-(x) = \frac{1}{2\alpha} \int_{-\infty}^{\alpha x} \left( (1+t)|q(t)| + \frac{2}{\alpha} |p(t)| \right) dt.$$

Here  $A^-(x, t) \equiv 0$  for  $t > \alpha x$ . Moreover, the kernel function  $A^-(x, t)$  satisfies the condition

$$A^-(x, \alpha x) = \frac{1}{2\alpha} \left( \int_{-\infty}^x \left[ q(t) + \frac{1}{\alpha^2} p^2(t) \right] dt + \frac{1}{2i\alpha} p(x) \right) e^{\omega_-(x)} \quad (15)$$

As in the case of the right Jost solution we have for  $x > 0$

$$f_-(x, \lambda) = T_+(x)e^{i\lambda(x)} + T_-(x)e^{-i\lambda(x)} + \int_{-\infty}^x B^-(x, t)e^{-i\lambda t} dt, \text{Im}\lambda \geq 0, x > 0 \quad (16)$$

where

$$T_{\pm}(x) = \frac{1}{2}(1 \mp \alpha) e^{i\omega_-(0) \mp i \int_0^x p(t) dt}$$

and

$$\begin{aligned} B^-(x, t) = & \frac{\alpha_-}{2} \int_{\frac{t-x}{2\alpha}}^0 q(s)e^{-i\omega_-(s)} ds + \frac{\alpha_+}{2} \int_{-\infty}^0 q(s)e^{i\omega_-(s)} ds + \frac{1}{2} \int_0^{\frac{x+t}{2}} q(s)T_+(s)ds + \\ & + \frac{1}{2} \int_0^{\frac{x-t}{2}} q(s)T_-(s)ds + \frac{i\alpha_-}{2\alpha} p\left(\frac{t-x}{2\alpha}\right) e^{i\omega_-\left(\frac{t-x}{2\alpha}\right)} - \frac{i}{2} p\left(\frac{t+x}{2}\right) T_-\left(\frac{t+x}{2}\right) + \\ & + \frac{i}{2} p\left(\frac{x-t}{2}\right) T_+\left(\frac{x-t}{2}\right) + \alpha\alpha_- \int_0^{\frac{x-t}{2\alpha}} dv \int_{\frac{t-x}{2\alpha}}^{-v} q(u+v)A^-(u+v, \alpha(u-v))du + \\ & + \alpha\alpha_+ \int_0^{\frac{x-t}{2\alpha}} dv \int_{-\infty}^{-v} q(u+v)A^-(u+v, \alpha(u-v))du + \\ & + \int_0^{\frac{x-t}{2}} dv \int_{-v}^{\frac{x+t}{2}} q(u+v)B^-(u+v, u-v)du + \\ & + i\alpha_- \int_0^{\frac{x-t}{2\alpha}} p\left(\frac{t-x}{2\alpha} + v\right)A^-\left(\frac{t-x}{2\alpha} + v, \alpha\left(\frac{t-x}{2\alpha} - v\right)\right)dv + \end{aligned}$$



$$\begin{aligned}
 & +i\alpha_+ \int_{-\infty}^{\frac{x-t}{2\alpha}} p(u - \frac{t-x}{2\alpha}) A^-(u - \frac{t-x}{2\alpha}, \alpha(\frac{t-x}{2\alpha} + u)) du + \\
 & +i \int_{-\frac{x-t}{2}}^{\frac{x+t}{2}} p(u + \frac{x-t}{2}) B^-(u + \frac{x-t}{2}, \alpha(u - \frac{x-t}{2})) dv - \\
 & -i \int_0^{\frac{x-t}{2}} p(\frac{x+t}{2} + v) B^-(\frac{x+t}{2} + v, \frac{x+t}{2} - v) dv, -x < t \leq x, x > 0 \quad (17) \\
 B^-(x, t) = & \frac{\alpha_+}{2} \int_{-\infty}^{\frac{t+x}{2\alpha}} q(s) e^{-i\omega_-(s)} ds - \frac{\alpha_-}{2} \int_{-\infty}^{\frac{t-x}{2\alpha}} q(s) e^{i\omega_-(s)} ds + \\
 & \frac{i\alpha_-}{2\alpha} p(\frac{t-x}{2\alpha}) e^{i\omega_-(\frac{t-x}{2\alpha})} - \frac{i\alpha_+}{2\alpha} p(\frac{t+x}{2\alpha}) e^{i\omega_-(\frac{t-x}{2\alpha})} + \\
 & +\alpha_- \alpha \int_{-\frac{x+t}{2\alpha}}^{\frac{x-t}{2\alpha}} dv \int_{-\frac{x-t}{2\alpha}}^{-v} q(u+v) A^-(u+v, u-v) du - \\
 & -\alpha_- \alpha \int_0^{\frac{x+t}{2\alpha}} dv \int_{-\infty}^{\frac{t-x}{2\alpha}} q(u+v) A^-(u+v, \alpha(u-v)) du + \\
 & +\alpha \alpha_+ \int_0^{\frac{x+t}{2\alpha}} dv \int_{-\infty}^{\frac{t-x}{2\alpha}} q(u+v) A^-(u+v, \alpha(u-v)) du + \\
 & +\alpha \alpha_+ \int_{-\frac{x+t}{2\alpha}}^{\frac{x-t}{2\alpha}} dv \int_{-\infty}^{-v} q(u+v) A^-(u+v, \alpha(u-v)) du + \\
 & + \int_{-\frac{x+t}{2\alpha}}^{\frac{x-t}{2}} dv \int_{-v}^{\frac{x+t}{2}} q(u+v) B^-(u+v, u-v) du - \\
 & -i\alpha_- \int_{-\infty}^{\frac{t+x}{2\alpha}} p(u - \frac{t+x}{2\alpha}) A^-(u - \frac{t+x}{2\alpha}, u + \frac{t+x}{2\alpha}) du +
 \end{aligned}$$



$$\begin{aligned}
 & +i\alpha_- \int_0^{\frac{x-t}{2\alpha}} p\left(\frac{t-x}{2\alpha} + v\right) A^-\left(\frac{t-x}{2\alpha} + v, \alpha\left(\frac{t-x}{2} - v\right)\right) dv + \\
 & -i\alpha_+ \int_{-\infty}^{\frac{t-x}{2\alpha}} p\left(u + \frac{x-t}{2\alpha}\right) A^-\left(u + \frac{x-t}{2\alpha}, \alpha\left(u - \frac{x-t}{2\alpha}\right)\right) du - \\
 & -i\alpha_+ \int_0^{\frac{x+t}{2\alpha}} p\left(\frac{x+t}{2\alpha} + v\right) A^-\left(\frac{x+t}{2\alpha}, \alpha\left(\frac{x+t}{2\alpha} - v\right)\right) du + \\
 & +i \int_{\frac{t-x}{2}}^{\frac{t+x}{2}} p\left(u - \frac{t-x}{2}\right) B^-\left(u - \frac{t-x}{2}, u + \frac{t-x}{2}\right) du - \\
 & -i \int_0^{\frac{t-x}{2}} p\left(\frac{x+t}{2} - v\right) B^-\left(\frac{x+t}{2} - v, \frac{x+t}{2} + v\right) dv, \quad t < -x < 0
 \end{aligned} \tag{18}$$

and  $B^-(x, t) \equiv 0$  for  $t > x$ . Estimating (10), (11) and (17), (18) we can easily obtain that

$$\int_{-\infty}^0 |B^-(x, t)| \leq C_1 \sigma^-(x) e^{\sigma^-(x)} \tag{19}$$

for some  $C_1 > 0$  where

$$\sigma^-(x) = \left( \int_{-\infty}^x ((1+t)|q(t)| + 2|p(t)|) dt \right)$$

Hence by setting  $K^\pm(x, t) = \begin{cases} A^\pm(x, t), & \pm x \geq 0 \\ B^\pm(x, t), & \pm x < 0 \end{cases}$  and combining all our results we have the following theorem.

**Theorem 1.** For all  $Im \lambda \geq 0$  the solutions  $f_+(x, \lambda)$  and  $f_-(x, \lambda)$  can be represented as

$$f_+(x, \lambda) = R_+(x)e^{i\lambda\mu(x)} + R_-(x)e^{-i\lambda\mu(x)} + \int_{\mu(x)}^{+\infty} K^+(x, t)e^{i\lambda t} dt$$

and

$$f_-(x, \lambda) = T_+(x)e^{i\lambda\mu(x)} + T_-(x)e^{-i\lambda\mu(x)} + \int_{-\infty}^{\mu(x)} K^-(x, t)e^{-i\lambda t} dt$$

respectively, where  $\mu(x) = x\sqrt{\rho(x)}$

$$R_+(x) = \frac{1}{2} \left( 1 + \frac{1}{\sqrt{\rho(x)}} \right) e^{i \int_x^{+\infty} \frac{\rho(t)}{\sqrt{\rho(t)}} dt}$$





$$R_-(x) = \frac{1}{2} \left(1 - \frac{1}{\sqrt{\rho(x)}}\right) e^{i \int_x^{+\infty} \frac{\rho(t)sgnt}{\sqrt{\rho(t)}} dt}$$

$$T_+(x) = \frac{1}{2} \left(1 - \frac{\alpha}{\sqrt{\rho(x)}}\right) e^{-i \int_{-\infty}^x \frac{\rho(t)sgnt}{\sqrt{\rho(t)}} dt}$$

$$T_-(x) = \frac{1}{2} \left(1 + \frac{\alpha}{\sqrt{\rho(x)}}\right) e^{i \int_{-\infty}^x \frac{\rho(t)}{\sqrt{\rho(t)}} dt}$$

From the estimations (6), (111), (14) and (19) we have

$$\int_{\mu(x)}^{+\infty} |K^+(x, t)| dt \leq C \sigma^+(\mu(x)) e^{\sigma^+(\mu(x))} \tag{20}$$

and

$$\int_{-\infty}^{\mu(x)} |K^+(x, t)| dt \leq C \sigma^-(\mu(x)) e^{\sigma^-(\mu(x))} \tag{21}$$

for some  $C > 0$ . Now let

$$G^+(x, t) = - \int_t^{+\infty} K^+(x, s) ds,$$

$$G^-(x, t) = - \int_{-\infty}^t K^+(x, s) ds.$$

Then we have

$$f_+(x, \lambda) = R_+(x) e^{i\lambda\mu(x)} + R_-(x) e^{-i\lambda\mu(x)} + \int_{\mu(x)}^{+\infty} G_t^+(x, t) e^{i\lambda t} dt$$

$$= R_+(x) e^{i\lambda\mu(x)} + R_-(x) e^{-i\lambda\mu(x)} - G^+(x, \mu(x)) e^{i\lambda\mu(x)} -$$

$$-(G^+(x, -\mu(x) + 0) - G^+(x, -\mu(x) - 0)) e^{-i\lambda\mu(x)} - i\lambda \int_{\mu(x)}^{+\infty} G^+(x, t) e^{i\lambda t} dt$$

and

$$f_-(x, \lambda) = T_+(x) e^{i\lambda\mu(x)} + T_-(x) e^{-i\lambda\mu(x)} + \int_{-\infty}^{\mu(x)} G_t^-(x, t) e^{-i\lambda t} dt$$

$$= T_+(x) e^{i\lambda\mu(x)} + T_-(x) e^{-i\lambda\mu(x)} - G^+(x, \mu(x)) e^{-i\lambda\mu(x)} -$$

$$-(G^-(x, -\mu(x) + 0) - G^-(x, -\mu(x) - 0)) e^{i\lambda\mu(x)} - i\lambda \int_{-\infty}^{\mu(x)} G^-(x, t) e^{-i\lambda t} dt$$

Therefore, by setting  $\lambda = 0$  in the last formulas we have



$$f_+(x, \lambda) = L^+(x)e^{i\lambda\mu(x)} + L_-(x)e^{-i\lambda\mu(x)} - i\lambda \int_{\mu(x)}^{+\infty} G^+(x, t)e^{i\lambda t} dt \tag{22}$$

and

$$f_-(x, \lambda) = P_+(x)e^{i\lambda\mu(x)} + P_-(x)e^{-i\lambda\mu(x)} - i\lambda \int_{-\infty}^{\mu(x)} G^-(x, t)e^{-i\lambda t} dt \tag{23}$$

where

$$\begin{aligned} L^+(x) &= R_+(x) - G^+(x, \mu(x)), \\ L_-(x) &= R_-(x) - (G^+(x, -\mu(x) + 0) - G^+(x, -\mu(x) - 0)) \end{aligned}$$

and

$$\begin{aligned} P^+(x) &= T_-(x) + G^+(x, \mu(x)), \\ P_-(x) &= T_-(x) - (G^-(x, -\mu(x) + 0) - G^-(x, -\mu(x) - 0)). \end{aligned}$$

**Theorem 2.** If  $(1 + |x|)q(x), p(x) \in L^1(I)$  then the Jost solutions  $f_+(x, \lambda)$  and  $f_-(x, \lambda)$  are expressed as (22) and (23) respectively, where the kernels  $G^\pm(x, t)$  are bounded functions on  $I$ . Additionally, if  $p(x) \in BC(I)$  then  $G_t^\pm(x, t)$  are bounded for  $\pm\mu(x) \leq \pm t$  as well as  $G_t^+(x, t) \in L_1(\mu(x), +\infty)$  and  $G_t^-(x, t) \in L_1(-\infty, \mu(x))$ . Moreover the following relations are satisfied:

$$\begin{aligned} G_t^+(x, \mu(x)) &= R_+(x) \left\{ \frac{1}{2} \int_x^{+\infty} \left( \frac{q(s)}{\sqrt{\rho(s)}} + \frac{p^2(s)}{\rho(s)\sqrt{\rho(s)}} \right) ds + \right. \\ &\quad \left. + \frac{i}{2} \int_x^{+\infty} \left[ \left( \frac{1}{\sqrt{\rho(x)}} \right)^2 + \left( 1 - \frac{\sqrt{\rho(s)}}{\sqrt{\rho(x)}} \right)^2 \right] p'(s) ds \right\}, \end{aligned} \tag{24}$$

$$\begin{aligned} G_t^+(x, \mu(x) + 0) - G_t^+(x, -\mu(x) - 0) &= R_-(x) \left\{ \frac{1}{2} \int_x^{+\infty} \left( \frac{q(s)}{\sqrt{\rho(s)}} + \frac{p^2(s)}{\rho(s)\sqrt{\rho(s)}} \right) sgn s ds + \right. \\ &\quad \left. + \frac{i}{2} \int_x^{+\infty} \left[ \left( \frac{1}{\sqrt{\rho(x)}} \right)^2 + \left( 1 + \frac{sgn s \sqrt{\rho(s)}}{\sqrt{\rho(x)}} \right)^2 \right] p'(s) ds \right\}, \end{aligned} \tag{25}$$

$$\begin{aligned} G_t^-(x, \mu(x)) &= T_-(x) \left\{ \frac{1}{2} \int_{-\infty}^x \left( \frac{q(s)}{\sqrt{\rho(s)}} + \frac{p^2(s)}{\rho(s)\sqrt{\rho(s)}} \right) ds - \right. \\ &\quad \left. - \frac{i}{2} \int_{-\infty}^x \left[ \left( \frac{1}{\sqrt{\rho(x)}} \right)^2 + \left( 1 - \frac{\sqrt{\rho(x)}}{\sqrt{\rho(s)}} \right)^2 \right] p'(s) ds \right\}, \end{aligned} \tag{26}$$

$$\begin{aligned} G_t^-(x, -\mu(x) + 0) - G_t^-(x, -\mu(x) - 0) &= \\ = T_+(x) \left\{ \frac{1}{2} \int_{-\infty}^x \left( \frac{q(s)}{\sqrt{\rho(s)}} + \frac{p^2(s)}{\rho(s)\sqrt{\rho(s)}} \right) sgn s ds + \right. \end{aligned} \tag{27}$$



$$+ \frac{i}{2} \int_{-\infty}^x \left[ 1 + \left( 1 - \frac{\operatorname{sgns} \sqrt{\rho(x)}}{\sqrt{\rho(s)}} \right)^2 \right] p'(s) ds \Bigg\}.$$

## REFERENCES

- [1]. Levitan, B.M., Gasymov, M.G.: Determination of a differential equation by two spectra. Uspehi Mat. Nauk, **19**(2), 3-63 (1964).
- [2]. Gasymov, M.G.: The direct and inverse problem of spectral analysis for a class of equations with a discontinuous coefficient, In: Non- classical methods in geophysics, M. M. Lavrent'ev (Eds), (Novosibirsk Nauka) 37-44 (1977) (in Russian).
- [3]. Maksudov, F.G., Guseinov, G.Sh., On the solution of the inverse scattering problem for the quadratic pencil of the Schrödinger equation on the full-line. Dokl. Akad. Nauk USSR, **289**(1), 42-46 (1986).
- [4]. Huseynov, H.M., Osmanlı, J.A.: Inverse scattering problem for one-dimensional Schrödinger equation with discontinuity conditions. Journal of Mathematical Physics, Analysis, Geometry **9**(3), 332-359 (2013).
- [5]. Nabiev, A.A., Mamedov, Kh.R.: On the Jost solutions for a class of Schrödinger equations with piecewise constant coefficients. Journal of Mathematical Physics, Analysis, Geometry, **11**, 279-296 (2015).
- [6]. Jaulent, M., Jean, C.: The inverse problem for the one dimensional Schrödinger equation with an energy dependent potential, I, II. Ann. Inst. Henri Poincaré, **25**, 105-118 (1976).
- [7]. Kaup, D.J.: A higher-order water-wave equation and the method for solving it. Prog. Theor. Phys., **54**, 396-408 (1975).
- [8]. Marchenko, V.A.: Sturm-Liouville Operators and Their Applications, Basel: Birkhauser (1986).
- [9]. Mamedov, Kh.R.: On an inverse scattering problem for a discontinuous Sturm-Liouville equation with a spectral parameter in the boundary condition. Boundary Value Problems, 2010, Article ID 171967, 17 pages, doi:10.1155/2010/171967.
- [10]. Mamedov, Kh.R., Nabiev, A.A.: Inverse problem of scattering theory for a class one-dimensional Schrödinger equation. Quaestiones Math. **42**(7), 841-856 (2019).
- [11]. Kamimura, Y.: An inversion formula in energy dependent scattering. Journal of Integral Equations and Applications, **19**(4), 473-512 (2007).
- [12]. Chadan, K., Sabatier, P.C.: Inverse Problems in Quantum Scattering Theory. Springer, New York (1989).
- [13]. Nabiev, A.A.: Direct and inverse scattering problem for the one dimensional Schrödinger equation with energy dependent potential and discontinuity conditions. Proceedings of the Institute of Mathematics and Mechanics National Academy of Sciences of Azerbaijan, **40**, 315-331 (2014).



JOMUDE

<http://www.jomude.com>